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ERKPAE TR HERER

% # A - R Bofy i fi # i
3 R A 636,756+ 27,902 664, 658
EEAE 636, 756
BEEET 27,902
Z Dt R 636,756 *  53.85% (35%= (1-35%)) 342,893
eS0T 664,658  + 342,803 1,007, 551
—REERE 1,007,551 %  53.85% (35%+ (1-35%)) - 117 542, 449
B EBE 1,007,551 + 542,449 1,550, 000
EERER 9,863,516
HEn 9,863,516 *  66.30% - 3,027 6, 536, 484
REEBE 9,863,516 + 6,536,484 16, 400, 000
e 1likva 1,550,000 + 16,400, 000 17, 950, 000
HEBEE L 17,950,000 *  10.00% 1,795, 000
e EFin! 17,950,000 + 1,795,000 19, 745, 000




ERKPAE TR HERER

BERARE

% i K - BAIRHE B fif # 2 B i & % i3 =

JK SR i TR S SR A = 1.00 10, 528, 174

K &R TR SRR & =% 1.00 10, 528, 174

<316, 000>

REEE = 1.00 318, 706

<81, 000>

HEEE = 1.00 81, 810 81,810

<45, 400>

ELn)icE ] 1.00 45, 400 45, 400

<189, 600>

EiERE i 3.00 63, 832 191, 496

(2,193, 800)

EKEAE = 1.00 9,851, 900

(727, 600)

BKAE [#FE#] ] 17.00 188, 854 3,210,518

(41, 700)

BKAE [KBRi%] ] 1.00 186, 787 186, 787

(651, 200)

BKAE [FnFRILTFiEiE) B 16.00 184, 417 2,950, 672

(773, 300)

BKAE (AL TFiEEiEE] B 19.00 184, 417 3,503, 923

<320, 756>

BEH = 1.00 338, 936

<320, 756>

WMEELYFED E] 53.00 6,112 323,936

EBERRERE 2,193,800 * (0. 7%+ (OZF * 0.2%)) = 1.00 15, 000 15, 000

%= = 1.00 18, 632

w&ED ERRHE = 1.00 7,016 7,016

A HiEAE = 1.00 11,616 11,616




ERKPAE TR HERER

RifiFk
NO. 1
REEE =1
4 L1 BO% R TN & iz £ i 1) = fi%
HER (A) B A 0.50 55, 200. 00 27,600 (27, 600)
BEm (C) B A 1.50 35, 600. 00 53, 400 (53, 400)
EHXARE % 1.00 81, 000. 00 810
& H 81,810 81,810 (81, 000)
NO. 2
EHTHE 1TEHY
4 L1 BO% R TN & iz £ fii 1) = fi%
HER (A) B A 0.50 55, 200. 00 27,600 (27, 600)
BEm (C) B A 0.50 35, 600. 00 17, 800 (17, 800)
& H 45, 400 45, 400 (45, 400)
NO. 3
EhaE 134y
4 L1 BO% R TN & iz £ fii 1) = fi%
HER (A) B A 0.50 55, 200. 00 27,600 (27, 600)
BE&m (C) B A 1.00 35, 600. 00 35, 600 (35, 600)
EXARE % 1.00 63, 200. 00 632
& H 63, 832 63, 832 (63, 200)
NO. 4
BKAE [#4F #] 1TEHY
£ L1 B®E - B K & iz £ i 1) = fi%
BKAEER (kL) A 1.00 42, 800. 00 42, 800
BT GEER) D270PSE! 3~5tFA A 0.50 162, 957. 00 81,478
Bk Tfn () D270PSE! 3~5tfA A 0.50 125, 384. 00 62, 692
K A Si8% =] 0.50 1,890. 00 945
MAE % 0.50 187,915.00 939
& H 188, 854 188, 854




ERKPAE TR HERER

RifiFk
NO. 5
BKAE [ K] 1TEHY
4 L1 B K - B R T & i # = {if 1) i %
BKAEER (kL) A 1.00 41, 700. 00 41,700
BT GEER) D270PSE! 3~5tFA =] 0.50 161,951. 00 80, 975
Bk fin () D270PSE! 3~5tfA =] 0.50 124, 476. 00 62, 238
Keph A Si8% 2] 0.50 1,890. 00 945
HAH % 0. 50 185, 858. 00 929
& H 186, 787 186, 787
NO. 6
BKAE (Fn3 L&) 1TEHY
4 L1 B K - B R T &k i # = {if 1) i %
BKAEER (kL) A 1.00 40, 700. 00 40, 700
BT GEER) D270PSE! 3~5tfA 2] 0.50 160, 613. 00 80, 306
Bk Tfn () D270PSE! 3~5tfA 2] 0.50 123,099. 00 61, 549
Keph A Si8% 2] 0.50 1,890. 00 945
HAE % 0. 50 183, 500. 00 917
& H 184, 417 184, 417
NO. 7
BKAE (FnELTESEER] 1EHY
4 L1 B K - B R T &k i # = i 1) i %
BKAEER (kL) A 1.00 40, 700. 00 40, 700
BT GEER) D270PSE! 3~5tfA 2] 0.50 160, 613. 00 80, 306
Bk fin () D270PSE! 3~5tfA 2] 0.50 123,099. 00 61,549
K A Si8% 2] 0.50 1,890. 00 945
MR % 0.50 183, 500. 00 917
& H 184, 417 184, 417




ERKPAE TR HERER

RifiFk
NO. 8
WEELYFELD 10 EHY
% £ K - B K T & By # £ B fifi & £ & = fi %
HER (C) SRt A 1.70 35, 600. 00 60, 520 (60, 520)
EHXARE % 1.00 60, 520. 00 605
& H 6,112 61,125 (60, 520)
NO. 9
EBRERE =1
% £ K - B K T & B # £ B fifi & £ & = fi %
(BHRERE = 1.00 15, 000. 00 15, 000
& H 15, 000 15, 000
NO. 10
&D =1
% 5 mo% A S -~ B B B ] i & % i - 1% z
&D B = 1.00 7,016.00 7,016
& H 7,016 7,016
NO. 11
R&Q =1
% £ O B K+ & B # £ B fifi & £ & E:2 fi %
R&Q HE = 1.00 11,616. 00 11,616
& H 11,616 11,616




ERKPAE TR HERER

B ffi &
NO. 1
Fi- Y S D270PSE! 3~5tf (##F %] iR 1HHY
2 5 B_Row - B R T K BT % =B B fif & 3 i &
3oy i L 129.00 85.40 11,016
BKIHERR A 0.20 37, 200. 00 7,440
BKERE A 1.00 26, 900. 00 26, 900
BKERE A 1.00 27, 400. 00 21, 400
B EER =} 1.00 13, 000. 00 13,000
B #“A H 1.00 18, 400. 00 18, 400
RIGEHEE % 25.86 104, 156. 00 26, 934
—REEE % 24. 31 131, 090. 00 31, 867
= E 162, 957
NO. 2
iy S} D270PS%E! 3~5tf [(KBR#E] B 1HHY
% Lo RO - B K T & By H = B fif = L] i %
3 i L 129.00 84.90 10, 952
BRI EER A 0.20 36, 300. 00 7,260
BKERE A 1.00 26, 900. 00 26, 900
BAKESE A 1.00 27,000. 00 217, 000
B PE 7 H 1.00 13, 000. 00 13,000
B A B 1.00 18, 400. 00 18, 400
RiGEEE % 25. 86 103, 512. 00 26, 768
—RERE % 24. 31 130, 280. 00 31, 671
a E 161, 951




ERKPAE TR HERER

B ffi &
NO. 3
Bkt D270PSE! 3~5t (FOgL T i) B 185Y
% a1 Row® - BifL % =B fif #
33! i L 129.00 85.10 10, 977
BKHERR A 0.20 35, 400. 00 7,080
BKERE A 1.00 26, 900. 00 26, 900
BKERE A 1.00 26, 300. 00 26, 300
B pE T =} 1.00 13, 000. 00 13,000
B #“A H 1.00 18, 400. 00 18, 400
RIGEHEE % 25.86 102, 657. 00 26, 547
—RERE % 24. 31 129, 204. 00 31, 409
= E 160, 613
NO. 4
iy S} D270PS%E! 3~5tf (FoBRILTiEERE] B HHY
% Lo 7S - SR By % B fif L]
3 i L 129.00 85.10 10,977
BRI EER A 0.20 35, 400. 00 7,080
BKERE A 1.00 26, 900. 00 26, 900
BAKESE A 1.00 26, 300. 00 26, 300
B PE T H 1.00 13, 000. 00 13,000
B #H =} 1.00 18, 400. 00 18, 400
RGEEE % 25. 86 102, 657. 00 26, 547
—RERE % 24. 31 129, 204.00 31,409
a E 160, 613




ERKPAE TR HERER

B ffi &
NO. 5
kL D270PSE! 3~5t GiVak) 8 1AMy
% # B - B R TR B - R & = 1 W=
K ERR A 0.20 37,200.00 1,440
BKERE A 1.00 26, 900. 00 26, 900
BKERE A 1.00 217, 400.00 27, 400
B #tA H 1.00 18, 400. 00 18, 400
RiGEEE % 25. 86 80, 140. 00 20, 724
—RERE % 24.31 100, 864. 00 24,520
& b 125, 384
NO. 6
kL D270PSE! 3~5tf eNF) 8 1AMy
% # B - B OR T & B O R & = t# W =
K ERR A 0.20 36, 300. 00 71,260
BKERE A 1.00 26, 900. 00 26, 900
BKERE A 1.00 21, 000. 00 27,000
B A H 1.00 18, 400. 00 18, 400
RiGEEE % 25. 86 79, 560. 00 20,574
—RERE % 24.31 100, 134. 00 24,342
= B 124, 476
NO. 7
kLA D270PSE! 3~5t GEATR=30) idii R:ED)
% # B - B OR TR B ¥ 8 R & = 1 W=
BAKHEER A 0.20 35, 400. 00 7,080
BKERE A 1.00 26, 900. 00 26, 900
BKERE A 1.00 26, 300. 00 26, 300
B A H 1.00 18, 400. 00 18, 400
RiGEEE % 25. 86 78, 680. 00 20, 346
—RERE % 24.31 99, 026. 00 24,073
a B 123, 099




ERKPAE TR HERER

B ffi &
NO. 8
Fi-y) S} D270PS%E! 3~5tf (FORILTiz#ERE] A 1H4Y
% Lo BRow - B R T K BifL % =B B fif i 3 i = & %
BKHEER A 0.20 35, 400. 00 7,080
BKERE A 1.00 26, 900. 00 26, 900
BAKESE A 1.00 26, 300. 00 26, 300
B #“A B 1.00 18, 400. 00 18, 400
RIGEHEE % 25.86 78, 680. 00 20, 346
—RERE % 24. 31 99, 026. 00 24,073
a E 123,099




